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SN SRNRD

M TLH2 AN SF (LSS /XYHY - W)
ool HE32Y ¢ 2nae (9 &)
= % ol (s - T Mz =
A -3 -H2A(SH) - HEAMY - BES Of &F 2K Ol AF o8 Hlns2t
S2ARD 919,292 903,311 15,981
NgAa=Cl N 25 (LSSIHFY /XYY - WX 662,443 643,254 19,189
2)
ME2g & 2iae 341,988 333, 159 8,829
NLME 222 83,966 90,086 AB,120
201 ety 64,030 70,150 AB,120
01 AFR22/Hl 45,070 51,190 AB,120
O1.2et42H| 45,070
“NYANE 2AX S Lt
23,070,000 23,070
-HADIAN S0 2,100
e DXA
70,0002 «28t Ax15) S 2 S 2,100
A2 (UMUHSEA, 22) 1,320
3, S80S 55,0008 x 128 A x2Z 1,320
-DSETRIEH A28 2U(EHL 68)
4,800,0002 4,800
-INNESR YOINTRE EY 7 10,000
T 1E 400,000 *10CH *13] 4,000
"SHE 400,000+ 15CH 6,000
-AgAggsE 2 3,780
I SHS(6HY, 15SHS)
90,0002 x212 x25 3,780
02 =324l 18,960 18,960 0
O3.AIZ ZHI S XYl 18,960
e SRNPIPIE=IAL 1,200,0002 * 122 14,400
-DSTAH KX 380,000 x 128 4,560
202 Oft] 7,080 7,080 0
01 2L 7,080 7,080 0
OXEZAN HIIDSs &4 ol
60,0002 x6 % x3 x33] 3,240
OFMELS s Y 3o &AM 0l
60,0002 x4 x4 x4 3] 3,840
301 LBtEANS 12,856 12,856 0
09 BAUIARRLALAS 12,856 12,856 0
O2U22QA(AREX) 12,856
== 88,0002 x4 x 128 4,224
-=all 5,000 x4 % 222 x 128 5,280
SmE=:] 2,000 *4 % x222 x12& 2,112
-1 =Yl 140,000 x4 23] 1,120
-CCH? S 15,0002 x4 x2 120
XA =o2el 258,022 243,073 14,949
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SN SANRD
By YN0 SHEN HE(LUDTHT/XNLBT - WIX)

el NIZSY ¥ 2 EERE
SN - EH . S(3) - MRAY - BES Ofl &k 04 e HRz2
101 01 24| 19,213 26,514 AT7,301
04 JIZHMIZ2XNSE = 19,213 26,514 AT7,301
OSSH SGHYLBENAN Bageiex o
£ 35,200 x 1 502 +32] 5,294
OTHAH DHX2LE BX o9y
35,2002+ 1% %502 23] 3,529
OXISAl HITHA - 281 LRI o
35,200 x2&H 202 *6.2 8,470
O4EE Jl2RY3 17,293,0002 11, 1% 1,920
201 LEt=EH| 220,109 199,559 20,550
01 ARzl 61,084 40,534 20,550
O1. get=2H] 54,280
- MIIZ0RLXN M= (SHLSBRAHT
&) 48,400
S5 Al 80& x25,0000H 2,000
Al 80& %100, 0000H 8,000
EPNR=PN 80& %100, 00001 23! 16,000
* THAEA 80& %140,00001 23! 22,400
-XeE 0CRLANM e 5,880
CEHSH 70,0002 %602 2 4,200
CMYAN, ESAL IS AN T ERDX
N 70,0003 *28f A x123] 1,680
Os5. 22| 6,804
~SH DAITIEHAIS S O 22X S A
7,000& ~5Fx9L * 123 3,780
ALK DRITEECHAFI 2 OF2t 22X 2 4
7,0003 +3Ex6L * 122 1,512
“THA AL DAIKHR AL E OFRI22 XS4
7,000 x3F 6L «12& 1,512
02 23223l 159,025 159,025 0
O1.ZZRILHA 59,025
-AANES RER 159,025
SN2 DN B8 SBE(SI)
1,750 *40024 « 122 8,400
S Al 2503 1,500 1501 S8 = 5,625
"XFSTM (L) 25081%70,00021%23] 35,000
* XS IAI(SD1) 1,750&+5,0004 8,750
ZEOIN, A A A
25021 %6,00021 * 1574 S &1 S 22,500
RYTEED 25021210, 00021 52,500
*THAAIN(E01) 1,750&+15,0004 26,250
202 Of b 16,200 16,200 0
01 2UWHYI 16,200 16,200 0
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LSRN
S uA el o

S|
Moo o =g

oo = T —

SIE(UBID DA /XA - HEX)

CEE S (BH) - MEAY - B2 Abod e
OZMEY WAXZE ALK
60,0003 7 H 3 +63| 7,560
OANAMNEEY LMz Z=AGH
60,0003 x4 H «3 +63] 4,320
OMAMEE DAXZ ZALG I
60,0003 »4H 32 x63] 4,320
AHatE S| 2,500 800
&Y =S FSHI 2,500 800
od - 230 ¢ 2,500,000 = 1CH 2,500
& 2tel 176,840 167,242
2 HEM E 176,840 167,242
ol 2| 5,882 8,584
JIZtHZ2eHsE 5,882 8,584
OMEAM & AdF(HH)AE ZAMEE
35,290 »1H x50 *32] 5,294
O4UiEE JI22Y3 5,294,000 *11.1% 588
A B2 A | 116,718 115,518
At 2teltl 46,346 45,146
O1.det=ZH| 38,450
~Aaze| ARFA DlE=+=EHl  6,000,000& 6,000
-8 SELXM ME=(EHLSSHIEE) 20,000
=5 2 ME2XA 80& x250,0000H 20,000
“HEDAA 2852 225 M
50& *90,0000H 4,500
-REM AR(HM)SSSI| MF 242
2,000 x 15021+ 12& 3,600
-S0i2te HMet+==2 150,000& *253] 3,750
-XI2Al XtSO0IX EDI OlEEs==+2
50,000& 123 600
O5. = &l 7,896
~EHe Y FAR Fel 03X 24
7,000 x4H+7Ux 12 2,352
“HEH RSl ¥ el ORIZeX 24
7,000 »4H+9U « 12 3,024
“HNeEgxe §s5dX 022 24
7,0003 x18H 4 x53| 2,520
3322l 70,372 70,372
O1.832224HA 64,850
“HEDAA & RSN 285 2HZ 64,850
Aot H 2503 *20,00024 *33| 15,000
s)|RH 1,750 x24,20024 42,350
SISHEEEZ 1,500& *5,00024 7,500
O3. A& ZHI= Xt 5,522
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SN SANRD
By YN0 SHEN HE(LUDTHT/XNLBT - WIN)

ool MYl ¥ F e (cHol a2
S HE - S(EH) - NRAY - BES sk oy S 2
0f 4 o
-FEUEX3Il X2+ 30,500,000% *8/100 2,440
“XEET HSEIX AAE SKE S
38,517,000 *8/100 3,082
202 O4dl 12,240 12,240 0
01 =LA bl 12,240 12,240 0
O=EE4d HMIAZ A (4]
60,000 x3EH +x3L 63 3,240
OMY&Eelgd X=X A (|
60,0003 x5 +3L +53] 4,500
OZAHME AN E==0Hl  60,000&*3F 5L +53] 4,500
3083 Z&= 25,000 25,000 0
01 Z&3 25,000 25,000 0
ONEMMEE =2 o= 25,000
o 15,000
T3Eoly 2t 150,000, 0002 *5/100 7,500
TodEola 2t 150,000,000 *3/100 4,500
T1Eola 2t 300,000,000% *1/100 3,000
-sois 10,000
3@ola Zut 100,000,000& *5/100 5,000
28014 Zut 100,000, 000& *3/100 3,000
18014 200,000,000 *1/100 2,000
405 AH&HFESHI 17,000 5,900 11,100
01 HARESFSH 17,000 5,900 11,100
OXZAN S2YMF OI0IX Zt2lAlAE 2 17,000
-XgAH SYME Ol0IXZ2e] Z2 0
13,000,000& 13,000
-2 A O0I0IX A0 1,000, 0003 +2CH 2,000
-0l0INE2E MY 2,000,000& = 1CH 2,000
gel&del HE2d 143,615 142,853 762
FEOHA MER2E 143,615 142,853 762
101 el H] 28,230 27,468 762
04 JIZtHIZ22NHESE> 28,230 27,468 762
ONLFHIATA ASLE 012
35,290 *18H 80 *50% 25,409
O4EE JI22E3 25,409,000 *11. 1% 2,821
201 Let2d| 111,965 111,965 0
01 AtE22|HI 104,990 104,990 0
O1. g 8t=ZH| 101,812
-HNEFEOAAME et=ZHl 3,000,000 3,000
NEFEINHAT U AES4R 76,472
HEESINH Az
48,4003 » 12%+*22, 50024 *50% 65,340
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SN

=N

M XA S OHEN SE(USTIT /LS - HEI)
chel: E2lXo NEHRY (el @@
5 T AT
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 Hws2
"HUAS 242 1,132
* O AN & 48,4002 *50%+30%*20024 1,452
USRS 48,4001 *50%+20024 4,840
*HAHY 48,400 50%+2002A 4,840
N e SR 18,000
=BlEN 86,0008 *1,200= & +25 14,400
2 A ZEA 6,000 x3005 & x25 3,600
ShEEeI SEENA (7Y, 8HS) 4,340
B0 50,0001 » 1674 4 *23] 1,600
Cyztm 20,0001 * 1674 A *23] 640
HEFed HFEX2 RO
70,0002 *308 A 2,100
O5. 32 3.178
SRS FEIIHAY G2 0RA22X 34
7,0002 *3% x6 * 122 1,512
SFEOIHAY SUS BSRY V22N
=R 7,00021 %172 +7 2 %23 1,666
02 SZ=2%H| 6,975 6,975 0
O1.2322LHAM 6,975
SHEFEOH 2RE Ls 2R
2502 23,0004 5,750
SNSRI 0194 ZHENR 2 2
il 1,7509 x70024 1,225
202 01| 3.420 3,420 0
01 =Kot 3,420 3,420 0
ONEFSHSHTALR ZX 0
60,0002 *32 *32 *53] 2,700
OMEFEIIATA A DS 0t
60,000 *2 % *32 +23] 720
SN2 (BELNANL/NSLZAI) 162,706 160,634 2,072
ZAIXIOb2He] 162,706 160,634 2,072
ZAIXIDL 22 162,706 160,634 2,072
101 QI 21,173 20,601 572
04 JIZH22USES 21,173 20,601 572
OMEBAIXI Ot 23 ol
35,2002 * 124 %200 7,058
OMLSAIXIOL Haredpe] A2 (SHS)
35,2909 +17% x20Y 11,999
O4lEE Jlped3 19,057,00024*11. 1% 2,116
201 LEred| 135,253 133,753 1,500
01 At2Z2lb| 119,883 119,883 0
O1. g2 115,739
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2N SRNRD
By DAXIRE(ZELTANL/NALEA)

Sl ZAIXIOM22 (92
_ _ SIEN
SN B SRA(SIH) - MBAY - BAS Abod il ot o =%
SNEBAIXIOL FREE DIEH2H
2,000,0002 2,000
HEBATON ZESTSN M
3024 %208, 0002 X 6,240
-EXNSEIAME L RFEA HARO
1521%208, 000 X| 23] 6,240
OHEBAIXIL BES4R 38,989
SFIIIEELAE
40,0002 /62.07+55, 000 X/ 1. 1 38,989
-HUABLLE 25,300
AR
40,0002 %0.5%0. 3+ 1,500 Xl +1. 1 9,900
D 40,0002 *50%+<2002 X/ 1. 1 4,400
SUERSE: 40,0002 *50%+<5002 X/ 1. 1 11,000
SIS SR 29,370
HIIZAE 8,900 +5,000 2t+50/ 100 22,250
HME(22 8)EAE  8,900R1%8005 2 7,120
HLPES Nudgen gaad
1,000,0002! *43] 4,000
OHEREE X0 BHLLE
600, 0002 *2JH 2 %33l 3,600
O5. 22| 4,144
OHEDAITIOIRE] FAQY ORISR 24
7,000 «421 482+ 112 2,464
HEBATOL RS BERY V22K 3
NEL) 7,00021 1524482 +23] 1,680
2 BB 15,370 13,870 1,500
O1.B3ZLI3LHAl 15,370
SHEBAIKOL SX SBE 2508 +50,0002 12,500
SHEBAITOL QIARE L 01N FRBET
em2 1, 75021 %8201 %25 2,870
202 01t 5,280 5,280 0
01 2Uhoit] 5,280 5,280 0
OBAIXI EXNSH BXEA FHOIH]
60,0002 x22 <22 x43] 960
OEXINNGI ISR S0t
60,0002 *3% *42! x63] 4,320
01 YsrBA 1,000 1,000 0
12 JlEtR &S 1,000 1,000 0
OEXNAGII A2 ADBaS
500, 0002 *23| 1,000
HHSAZH (S TAPD) (JIEH/IIE) 94, 143 99,423 A5,280
2L (S HSD) 18,283 8,283 0
ST 8,283 18,283 0
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SN

SN2

2 Y2 AR (STHM D) (JIEHIIE)
Sl plAS YL (27 HMSD) (S5 &2)
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
101 Q1248 8,283 18,283 0
03 RIHA22NE 4 18,283 18,283 0
OMLH F4+ge 2EoARY 18,283
ez 29,0102 +12§+3132 9,081
4013 9,081,00024 +12 %1/ 12+300% 2,271
=E-EIL 9,081,00024 +12 %1/ 12+ 120% 909
P ES 50,0008 %12 +122 600
“DESEY 30,0008 %1% +122 360
bEag 60,0008 * 1% +122 720
-0 Xp 29,0102 12+ 152 436
-FE4Y 29,0109 12 x522 1,509
SNZHRIDRAG 5,440 1 x22AI 2+ 128 1,437
—moig Ayl 80,0002 * 1% +12% 960
I ZH(=R MR 75,860 81,140 A5,280
SN2 3,580 13,580 0
201 Yer2 Y| 13,580 13,580 0
01 AtR2elt| 13,100 13,100 0
ORN2Y st 4,060,0002! 4,060
ORNSY HaLDEY 4,100,0002! 4,100
ORN2Y S 4,940,0002! 4,940
02 ZZ2H| 480 480 0
ORN2Y 2223 480,0002 480
&2 = 01| 58,080 63,360 A5,280
202 01t 58,080 63,360 A5,280
01 =Uoit] 58,080 63,360 A5,280
OFQASEXOL 20,0002+ * 11+ 128 58,080
R =Yl 4,200 4,200 0
203 YRE=X| 4,200 4,200 0
04 EN2YAREAY] 4,200 4,200 0
OSN2YLLETY (FH:26Z)
350,000 * 129 4,200
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SN
X XH .
S Tt

el

&
e NEED VYR E=t T VTR <))
N AF A =Y (=CRE
- o FSJE =
A [(31H) - NRAY - BES O AF K Ol AF o8 HwsZ
IR PS=F
200,0002 * 122 *5 7 4 2,000
HEE 18,000
AZE BOANL RN
4,500, 0002 *47} 4 8,000
202 5,760 5,760 0
0f 5,760 5,760 0
R =0
20,000 %42 *92 33| 2,160
U H A =X 0|
60,0002 *4% 32 53] 3,600
206 11,296 18,296 A7,000
0f 11,296 18,296 A7,000
UYTNEH REU(HLR)
1, 7002120 £ 612 *47H A 8,296
BIXID2tE X K7L
3,000, 0002 3,000
301 2,000 2,000 0
10 Faz 2,000 2,000 0
I EREERN 500, 00024 *47} & 2,000
401 Ch bl 33,357 30,324 3,083
0f 33,000 30,000 3,000
AZALE TN Y Ba
750, 00024 %47} & 15,000
SYANS X
2,000,00024 47 A 8,000
HERE AT SLTA
10,000,00024 *14! 0,000
03 357 324 33
ANE2R2 ALLY
33,000,0002 *1.08/100 357
P ZQRAAAH(2X) 56,928 37,753 19,175
= 13,880
Al 43,048
101 56,928 27,060 29,868
= 13,880
Al 43,048
04 JAR2RISES 56,928 27,060 29,868
ol EQR oIy
70,0008 %32 *612 %404 & 51,240
= 13,880
Al 37,360
|23 51,240,0002 %11 1% 5,683
N ZHY PY(RXE) 30,670 30,682 A12
= 9,400
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206 i = bl 1,370 1,112 258
= 685
= 206
Al 479
01 Mzl 1,370 1,112 258
ONSHMNSEH NMFAL(XHF=LI| S 35)
1,370,000& 1,370
e 685
T 206
Al 479
401 AlEHIZ 20 743,459 180,416 563,043
= 532,217
& 63,929
Al 147,313
01 Al&HI 720,871 173,139 547,732
Oa2lUURMA=Y at=2H 51,624,000 =14 51,624
= 47,862
& 1,128
Al 2,634
OAURMEEYE 2L HALS
629,531,000 14 629,531
= 445,003
o= 57,216
Al 127,312
OXN AN (s =LIe) 2,227 ,0003 14 2,227
= 1,152
T 322
Al 753
OXNAYH(LelLt2AHH) 4,436,000 x14] 4,436
= 2,286
== 645
Al 1,505
O4al=28 gHd 4l 886, 115,000& *3.73% 33,053
= 23,136
& 2,975
Al 6,942
02 Zelyl 18,254 6,119 12,135
Oal2gais 2H Zeltl
886, 115,000 *2.06% 18,254
= 12,778
== 1,643
Al 3,833
03 AI&=20Ul 4,334 1,158 3,176
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SN =D
BB AW YS(SUHSSA/YY - AE)
Sl MEHHE YR (el &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
OIS HAY A& LYl
687,818,000 %0.63/ 100 4,334
402 DIZHXHZ 0| 197,828 142,431 55,397
2 169,053
= 10,312
Al 18,463
I E 197,828 0 197,828
OAUSTESY MR LIRFA
172,722,00020 %14} 172,722
2 154,902
= 7,026
Al 10,794
OzUSM2l USFAEALDE)
25,106,0002 14! 25,106
2 14, 151
= 3,286
Al 7,669
WREENEELERTEES 13,866 13,865 1
= 4,160
Al 9,706
101 @121t 13,866 13,865 1
= 4,160
Al 9,706
VIBEDEESEERS 3,866 3,865 1
OMEE OIE Q12| 12,480, 000! 12,480
= 4,160
Al 8,320
O4URE g2 12,480, 00021 %11. 1% 1,386
OIMESE S ALY 4,000 4,000 0
307 BI2HOI 4,000 4,000 0
NIEEEEEN 4,000 4,000 0
ORMOMES +5 ¥ YRTEY)
00, 00024 +200} 2| 4,000
OFM S ST GHO LA & (2F) 12,000 14,546 A2,546
2 6,000
= 1,800
Al 4,200
402 DIZHXIZ O 2,000 14,546 A2,546
2 6,000
= 1,800
Al 4,200
IR E 2,000 14,546 A2,546
OOMES TEHMLAL HX
12,000, 0002 * 14! 12,000
2 6,000
= 1,800
Al 4,200

_63_




fA SR4H N

HE: A Y (S o - pE)

Sl ARHHE BH ol s
S " . T J AY -T2 Al OH HEE Hl D=2+
_I_—I'O—|° |(9|j:”) '“—l— I't:J S = =5 0:”/&,% |J-|_61:1

RS THoH Of 2 200,310 227,325 A27,015
101 el24| 46,849 56,981 210,132
04 JIZtMZ22XSE 46,849 56,981 A10,132
O S2=7 AR
52,7103 x20H x4 2 x53| 21,084
OSHMZANERRNES 22
52,710%20% 42 x53| 21,084
O4EE I3 42,168,000& *11.1% 4,681
201 Yer2gy| 9,420 7,980 1,440
01 AtSR2t2ldl 7,980 7,980 0
O4. 101 =t 500
-ME T SEs7 A= (R, HEE S)
- 50,000& 102} 500
O5.2 &l 1,680
AT Y BIAZ2RX 24
7,000 x3H+8L x103] 1,680
O6. Y41tz 5,800
-ME T 222+ | & Xt 5,800
=41| 350,000 =7 CH 2,450
goEd 350,000 =7CH 2,450
St 3l (5Ton) 450,000 *2CH 900
02 3234l 1,440 0 1,440
01.8332=2 2 HA 1,440
~SAFZ HOAIZ(HXZE0)AI| MEZ
60,0003 x20 A+ 12& 1,440
202 O4H| 540 540 0
01 2L 540 540 0
O« S THaH ol &t ey 2 o4 Hl
60,0003 »3Z x33| 540
206 =Yl 3,500 5,708 A2,208
01 Ml 3,500 5,708 A2,208
OUETMHNY L SIS HWRL(HILS 6
E) 3,500,000& 3,500
401 N &HIL2 Y] 140,001 156,116 A 16,115
01 Al&HI 139,000 155,000 A 16,000
Ot THl /I &= MAHALE 5,000,000& *32] 15,000
OXLEALER Ol 2= At 30,000,000 *14] 30,000
OSBEs ZSA AAIEHUIZ S AL
34,000, 0002 14 34,000
OY = ALALEH Ofle 50,000, 0002 *14] 50,000
OstZ MSAE=2 B3 A
10,000,000 *13] 10,000
03 AIE=20HdI 1,001 1,116 A115
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FASFALUSH
3 TRANES 22 (5L US/E2)

@2l EZ2ANEE mA2 (el &)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
SERA4USH 11,308,365 9,092,225 2,216,140
= 682,907
= 1,470,212
Al 9,155,246
CENEE 2 (8LRE/ER) 8,808,826 6,814,670 1,994, 156
L= 1,420,000
Al 7,388,826
EZANEE 72 2,329,574 1,834,063 495,511
EZ2ANEE 7A2e 2,329,574 1,834,063 495,511
101 el 4] 24,723 24,719 4
04 JIZHMIZ2XEE =+ 24,723 24,719 4
OS2 WEE XZA 2IRY
8,850 «2H +32 +8IH A 1,865
O4UEE JI122E3 1,865,000 *11. 1% 208
OEz=HaE=2 HEJ(Lolgdiiel =) 22,650
- 200,000 15«72 21,000
-28 ¥ 20& 110,000& 15 1,650
201 B3| 975,998 628,557 347,441
01 AtR22iHl 53,300 66,859 A 13,559
O1.d8t=&2H| 15,000
A4y JRF& J|Et=&Hl  1,000,000& 1,000
“HOIE =2 (23 &Y LM4F) 10,000
HOtAEE 5,000,000& 5,000
H=232E 5,000,000& 5,000
-E2EE SREAN EEeE
300, 000& »52] 1,500
SIS HAEAN AL (EERHHER 55
) 2,500,000& 2,500
O4. 101 =H| 800
- HSR O Y 800
22=(=) 35,0003 20 700
DXt 5,000& *20H 100
OLR=1=1:] 12,950
-EESEAY 24 7,000 x22H +352 5,390
-2 RN 22 ORIZSX 24
7,000 «5H«0d «12& 3,780
LA Ot 22X =4
7,000 «5H«9 «12& 3,780
O6.gx=2 24,550
22257 FHILIHEAMMH L ML=
o =) 22,800
=40| 360,000& »3CH*5 5,400
g9 360,000 »3CH*3 3,240
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2H: SRALDED
Hu: CRALS B(LELNE/E2)

ool TRAES Sz CERCE
RA B SA(BH) - NRAY - B 01 e HRE2
ST 760, 0002 *30H *52 11,400
e e 460, 00081 *3CH 2 2,760
SCAEIE BN BUYR
350, 000! *1CH %53 1,750
02 T2l 922,698 561,698 361,000
O1.2222UHA 912,885
~EREE2 INM s 2BR 5,825
Apt2 B 25021 *2,30021 %13 575
Sol=H 1,7502 % 1,50021 %23 5,250
SHEANE U GHRSESE  4,0009%2502 1,000
JI2S ®IIR(5,6955) 75,000,0002 122 900,000
~SE2E4R OO ¥ SRZESY B3
2 6,060
NBtaE AR 25,0002 * 122 300
2®I| ANER 35,0002 *6CH 122 2,520
222C S| 45,0002 +6C4 * 122 3,240
O3. A& ZHIR X 9,813
~REHMCEY 2 55 S| 9,813
C ] 1,70021%6 £ *100A| 2435 3,060
= 1,5002 %6 £ *200A| 2+ 1,800
A 35021+ 12 £ *50A| 2+ 210
" LPGIFA 1,5502 «7Kg*50A] 2t 543
" 2l 4,200
+HCER 9 2% 400,00024 ¥35 1,200
* g9l 3,000,0002 *1% 3,000
202 014l 5,040 5,040 0
01 2UoiH| 5,040 5,040 0
OS2 HYEXNSA U ABALDNSAA
o1t 60,0002 x4 x32 720
CEA SEAQ ETOY
60,0001 4 *32 *63] 4,320
206 T2 82,000 82,000 0
01 MHEH 82,000 82,000 0
OE224+8 AT AY 2,000,0002 2,000
OS2AES SR 20,000, 00024 20,000
OT22Y 2 MaXY XM 12,000,000 12,000
OANUYLS JIZS(2OHS 24X
48,000,0002 48,000
207 1IN Y| 6,490 9,440 A2,950
02 & AN 6,490 9,440 A2,950
OGISS X221 ] 5,900,000 *1. Tk 6,490
301 LLBAS 16,070 16,070 0
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BA: ERHLADED
MM CR2AHS 22 (2 LDNE/E2)
e TZEAIEES R

l:l/\_l .I—Iil—l.l:|-0|(§lj:”).}\.“ﬁ |.O-| HAXZ AFOH I|_-|L|;=|_l‘:_ =2}
09 BAIZLRIBLES 16,070 16,070 0
O3UZRRA BAZ(HIANREX) 16,070
-2 88,000 x5 H 128 5,280
-S4l 5,000& «5H «222 « 128 6,600
- =Hl 2,000 x5 H 222 x 12 2,640
-1l =4l 140,000 *5H »23] 1,400
-CHe s 15,000& x5 H 2 150
401 Al&HI LR OHYI 1,213,253 1,062,837 150,416
01 Al&HI 1,208,900 1,059,000 149,900
OANMULEd S2RX22IHl 300,000,000 14! 300,000
Ot S X E2HI(5,6955)
140,000, 000& » 14 140,000
OSHS 2oS &XISAH149S)
118,900, 000& » 14 118,900
OsHel~SL =2t A= FHI(L=200m, B=3m)
50,000,000 * 14! 50,000
O2e 2t |XNE=Hl 20,000,000& *14! 20,000
OAUEd HESXE 4X 2 Fol
20,000,000 * 14! 20,000
Ol wg ¥ HE etdEd
20,000,000& =14 20,000
OAULRE JIZS ZTM(ZI2a)
30,000,000& *14! 30,000
OZENCIZEA~E#SHAL0IBY ZEHINLDI(
=900m, B=12m) 90,000,000& *14! 90,000
OZot gxel~&et stEel(AE11Es) ZEIY
2 J1(L=6.6kn,B=6m) 300,000,000 14! 300,000
Ok Z2A39 & X& IM=2I|(L=500m, B
=14m) 60,000, 0003 * 14| 60,000
ONBEL=~EE 2Hel ZEIM2I](L=200m,B
=8m) 30,000,000& *14! 30,000
OXHEE SaZH TYE =ZIHBAHL=30m,B=5m
) 30,000,000& *14! 30,000
03 AIZR04l 4,353 3,837 516
OEZANEE g2l AIE20YI
1,208,900,000& *0.36/100 4,353
405 KHoHESHI 6,000 400 5,600
01 T =S HSHI 6,000 400 5,600
OLZaHsEE ALY 1,000,000 *1CH 1,000
OoL® EAD 5,000, 0002 = 1CH 5,000
SADJIBAIE 2= 6,479,252 4,980,607 1,498,645
& 1,420,000
Al 5,059,252
SANHEEZ2OHE 2,689,648 2,755,836 A66,188
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A SRAEL WS
HH: TRALEE 22 (+SHWE/ER)

20 SADIBAIE 2= (ctel: &
_ _ _ Muo
SN CR(EH) - NRAY - BES 0l & 24 e HRE2
401 Al&HI LS04I 2,689,648 2,755,836 A66, 188
01 Al&H| 2,680,000 2,749,608 A 69,608
OXol 2ol NYZ2(M-1)E2HE(
L=60m,B=10m) 250,000,000 * 14! 250,000
OSol WEOHIHE & (F2-72) =2 A (L=100m,
B=15m) 900,000, 000& * 14! 900,000
OFEFxSs W F(A3-154) T 2 & (L=230m,B=
ém) 200,000
—& Al & AlHI 192, 159,000% *4.08/100 7,841
—-Al&H] 192,159, 000& 14 192,159
OR&EE =ZO0HIHE Y (A3-177) T2 IHE(L=90
m,B=6m) 150,000
-&AlZ A 144,119,000% *4.08/100 5,881
—-Al&H] 144,119,000% 14 144,119
O s (42-44) & 2 I & (L=60m,B=8m)
300,000,000& 14! 300,000
ongs (£2-43)= 21 & (L=85m,B=8m)
200,000, 000& » 14 200,000
Osdl 4l gorzh F(a3-22) I&EL=Z
& (L=170m,B=6m) 200,000, 000& » 14 200,000
Osdl 24cl B3 H(23-89) =24 (L=85m,
B=6m) 300,000,000 * 14! 300,000
OJIH =8 StLUZ0E 2(A2-10) =2HA (L
=230m, B=8m) 150,000
-a A& A 144,119,000% *4.08/100 5,881
-Al&H| 144,119,000& 14 144,119
Osofl ¢dal(x2-8) S22 & (L=35m, B=6m)
30,000,000& =14 30,000
03 Al =20HY| 9,648 6,228 3,420
OZAIAHEZZNE AE2UYI
2,680,000, 000 *0.36/100 9,648
CANESML(BZ) 2,121,120 1,006,300 1,114,820
& 1,050,000
Al 1,071,120
401 Al EHIL 201 2,121,120 1,006,300 1,114,820
& 1,050,000
Al 1,071,120
01 Al&HI 2,113,560 1,000,000 1,113,560
Osditdel(4a2-4) =24 & (L=200m, B=8m)
200,000, 000& » 14 200,000
& 100,000
Al 100,000
O=dl sll=nE (£2-3) T2 IHE (L=120m, B=
8m) 200,000, 000& » 14 200,000
= 100,000
Al 100,000
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BA: ERHLADED
MM CR2AHS 22 (2 LDNE/E2)

20 SADIBAIE 2= (ctel: &
. _ - rJEL=S ~
SN CR(EH) - NRAY - BES 0l & 24 e HRE2
O=ESMHRAEE(AM1-87) E2H4
400,000,000& 14! 400,000
L= 200,000
Al 200,000
O=Yds e xZWY(21-89) =2 & L& (L=360m
, B=10m) 413,560
—& Al & AIHI 400,000,000 *3.39/100 13,560
—-Al&H] 400,000,000& 14! 400,000
= 200,000
Al 200,000
O853(42-235,43-258) = = JH A (L=350m, B=
ém) 600,000
—& Al &I 580,326,000% *3.39/100 19,674
—-Al&H] 580,326,000& 580,326
= 300,000
Al 280,326
Osdh g4el(A3-26) == M4 (L=120m, B=6m)
300,000,000& * 14 300,000
& 150,000
Al 150,000
03 Al£ =204l 7,560 6,300 1,260
OSAHEEZHE NS 2T
2,100,000,000& *0.36/100 7,560
NAHCHEZIH A 411,040 151,080 259,960
401 Al&HI LR OHYI 411,040 151,080 259,960
01 Al&HI 408, 160 150,000 258, 160
Od&lg Jlgel(al=213) S2EE X (L=1.2km, B
=6.5m) 200,000, 000& » 14 200,000
Ozl d3e~84Ae(2lE2038) S22 L H(L
=500m,B=6.5m) 208,160
—& Al & Y| 200,000,000 *4.08/100 8,160
—-Al&£H] 200,000, 000& * 14 200,000
03 AIE=20bl 2,880 1,080 1,800
OXNSAUEZ LAY AL FHYI
400,000,000& *0.72/100 2,880
FO=ATZAMH (RSB ATZAG)(EX) 1,257,444 1,067,391 190,053
= 370,000
Al 887,444
401 Al&HIZL=ROHYI 1,257,444 1,067,391 190,053
= 370,000
Al 887,444
01 Al&H| 1,253,160 1,063,660 189,500
OEdll Ha~E2(HEZ104) WA XI(L=120m, B=
9m) 440,000,000& *14! 440,000
= 220,000
Al 220,000
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P EAALNSH

M T2ANEE 2el(+S

I ZADIEAIE =5

WS/E2)

SN -ZH A (ZH) - MFAY - BES Aol a4 Hlw &2
- o= T ° . [= Bl e =5 0:”/‘l|_% Lsa
Oset NPl (el&203) 2 IMA (L=1.4km, B=6
.5m) 605,000
—AAIE A 2,000,000,000& *2.75/100 55,000
-Al &l 550,000, 0002 * 14 550,000
= 50,000
Al 500,000
Osdl ==2l(2l=201) 2SI E(L=1.4km, B
=6.5m) 208,160
—A A& A I 200,000,000 *4.08/100 8,160
-Al &l 200,000, 0003 =14 200,000
= 100,000
Al 100,000
03 Al 2 0HY| 4,284 3,731 553
OXNESHATZ2IHE Al LI
1,190,000,000& *0.36/100 4,284
THoh & THHO S (SSEAML A /THL T - 2lgte]) ,900,600 1,703,055 197,545
= 682,907
= 3,172
Al ,214,521
asoll Xl A ,812,119 1,640,567 171,552
2 680,306
Al ,131,813
Entel FsRSla] 421,453 400,544 20,909
202 O4dl 2,880 2,880 0
01 =LA b 2,880 2,880 0
O48IE BUEXSAZY L2 0fY
60,000& x3H 4 x4 3| 2,880
401 A &HIL 2048 418,573 397,664 20,909
01 Al&H| 415,621 395,000 20,621
O&dl g=cl A6t (g3 )H I3 AHL=200m)
60,000,000 * 14! 60,000
OFol 0ldel aot& (01E &) Hl S AHL=300m) 115,621
-& A& A 110,000,000& *5.11/100 5,621
-Al &l 110,000, 0003 * 14 110,000
Ol ZH 22tg] A5t (S2UA)ZHISAHAD
ZEOHAA) 60,000,000 *14] 60,000
OJIAH Xiot2el st (Eeld)sodEd 2 4
DX (A4, 1=40m) 60,000,000 14| 60,000
0215 =22 ActE(SHA)EHIS AHL=100m
) 40,000,000 14! 40,000
O=Z &Atel 26HA (AI201& )& HI(L=100m)
50,000,000 *14] 50,000
O2UW 2ctd Ald2 SN2l
30,000,000 *14] 30,000
03 Al 20HY| 2,952 2,664 288
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2N =ALDSD
HE: Mol L WO (SENUOE /T - BeSl)
Sl AEAHK N EEREE)
_ _ _ Muo
SN -3H - S2A(2AH) - NRAY - BE= Off &F K Ofl At ot HusZ
OAGHEFHIALY Al S T
410,000, 0002 +0.72/100 2,952
ABHEBHI (2 X) 1,360,612 1,209,169 51,443
2 680,306
Al 680,306
401 Al4HI L= O] 1,360,612 1,209,169 151,443
2 680,306
Al 680,306
01 Al 1,355,861 1,204,939 150,922
Ot WS (A5HE) FHIZAHL=750m) 1,355,861
& A& 1,319,572,000% 2.75/100 36,289
2 20,519
Al 15,770
L] 1,319,572,0002 * 144 1,319,572
2 659,787
Al 659,785
03 Al&=THYl 4,751 4,230 501
OAGHEFHIZA AIZ O]
1,319,572,000% +0.36/100 4,751
o & TH o 0l 2 30,054 30,854 £800
201 Ypr2o| 14,844 14,844 0
01 AtR2lt] 12,844 12,844 0
O1. et 8| 5,200
X4 % THOHCHR AR Lpta S|
5,200,000%! 5,200
05. 22| 3,024
X4 YL WHSR OFA2RX SA
7,0002 %38+ 1224 » 128 3,024
06.Ux2 4,620
~THOHCHE4 ZI) Rt 4,620
= b 385, 00021 +2CH +35] 2,310
=k 385, 0002 +2CH #33] 2,310
02 BZEH| 2,000 2,000 0
O3. Al HHIR X 2,000
-2k 43| 21| 100,000% +20TH 2,000
206 THEHI 15,210 16,010 £800
01 THZ 15,210 6,010 800
O+YRM 7 (PPEHS 45) 13,000,002 13,000
O24I| }SE RR(FLR) 7Y
1, 70024 %20 § *65CH 2,210
ME0ISS 2 23 88,481 62,488 25,993
2 2,601
= 3,172
Al 82,708
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